
Grade 7 General

EOT2 Coverage

AL Hemma School C2



Part 1

Multiple Choice Qestions

(15 questions, 4 marks each, Paper-Based)



= (5𝒙 - 3) - (2𝒙 - 7)
= (5𝒙 - 3) + - (2𝒙 - 7)
= (5𝒙 - 3) + (-2𝒙 + 7)
= (5𝒙 + -2𝒙) + (-3 + 7)
= (5 + -2)𝒙 + (-3 + 7)
= 3𝒙 + 4



?

= (12h + 7) - (7h - 4)
= (12h + 7) + - (7h - 4)
= (12h + 7) + (-7h + 4)
= (12h + -7h) + (7 + 4)
= (12 + -7)h + (7 + 4)
= 5 h + 11
= 5 (6) + 11
= 30 + 11
= 41
41 × $1.50 = $61.50
In 6 hours, they sold 41 more Asiago bagels.
They made $61.50 more in Asiago bagel sales.



?

= (8w + 9) - (6w - 1)
= (8w + 9) + - (6w - 1)
= (8w + 9) + (-6w + 1)
= (8w + -6w) + (9 + 1)
= (8 + -6)w + (9 + 1)
= 2 w + 10
= 2 (12) + 10
= 24 + 10
= 34
34 × $11 = $374
In 12 weeks, he sold 34 more buttered popcorn.
He made $11 × 34 = $374 more in buttered popcorn.















= 3 (𝒙) + 3 (4) + 5 𝒙
= 3 𝒙 + 12 + 5 𝒙
= 3 𝒙 + 5 𝒙 + 12 
= 8 𝒙 + 12
= 4 (2𝒙 + 3)

= -4 (𝒙) + -4 (1) + 6 𝒙
= -4 𝒙 + -4 + 6 𝒙
= -4 𝒙 + 6 𝒙 + -4 
= 2 𝒙 – 4
= 2 (𝒙 – 2)

= -5 (2𝒙) + -5 (-6) + 25 𝒙
= -10 𝒙 + 30 + 25 𝒙
= -10 𝒙 + 25 𝒙 + 30 
= 15 𝒙 + 30
= 15 (𝒙 + 2)



= 2 (-8𝒙) + 2 (-3) + 18 𝒙
= -16 𝒙 + -6 + 18 𝒙
= -16 𝒙 + 18 𝒙 + -6 
= 2 𝒙 + -6
= 2 (𝒙 – 3)

= 
𝟏

𝟔
(𝒙) + 

𝟑

𝟒
(
𝟏

𝟐
𝒙) + 

𝟑

𝟒
(-4) 

= 
𝟏

𝟔
𝒙 + 

𝟑

𝟖
𝒙 + -3 

= 
𝟖

𝟒𝟖
𝒙 + 

𝟏𝟖

𝟒𝟖
𝒙 + -3 

= 
𝟐𝟔

𝟒𝟖
𝒙 + -3 

= 
𝟏𝟑

𝟐𝟒
𝒙 – 3

= 
𝟐

𝟑
(6𝒙) -

𝟐

𝟑
(
𝟏

𝟔
) + 3𝒙

= 4𝒙 -
𝟐

𝟏𝟖
+ 3𝒙

= 4𝒙 -
𝟏

𝟗
+ 3𝒙

= 4𝒙 + 3𝒙 -
𝟏

𝟗

= 7𝒙 -
𝟏

𝟗



= 
𝟐

𝟓
(10𝒙) + 

𝟐

𝟓
(
𝟑

𝟒
) – 2𝒙

= 4𝒙 + 
𝟔

𝟐𝟎
– 2𝒙

= 4𝒙 + 
𝟑

𝟏𝟎
– 2𝒙

= 4𝒙 – 2𝒙 + 
𝟑

𝟏𝟎

= 2𝒙 + 
𝟑

𝟏𝟎

= 
𝟑

𝟒
(24𝒙 + 28) + (-4𝒙 + 1) 

= 
𝟑

𝟒
(24𝒙) + 

𝟑

𝟒
(28) + -4𝒙 + 1 

= 18𝒙 + 21 + -4𝒙 + 1 
= 18𝒙 + -4𝒙 + 21 + 1 
= 14𝒙 + 22
= 2 (7𝒙 + 11)

= 
𝟓

𝟖
𝒙 + 

𝟏

𝟐
(
𝟏

𝟒
𝒙) + 

𝟏

𝟐
(10) 

= 
𝟓

𝟖
𝒙 + 

𝟏

𝟖
𝒙 + 5 

= 
𝟔

𝟖
𝒙 + 5 

= 
𝟑

𝟒
𝒙 + 5











= – y + 9z + (– 16y) + (– 25z) + 4
= – y + (– 16y) + 9z + (– 25z) + 4
= (– 1 + – 16)y + (9 + – 25)z + 4
= – 17y + –16z + 4

= 8 z + 𝒙 + (– 5) + (– 9z) + 2
= 8 z + (– 9z) + 𝒙 + (– 5) + 2
= (8 + – 9)z + 𝒙 + (– 5 + 2)
= – z + 𝒙 – 3

= 5 c + (– 3d) + (– 12c) + d – 6
= 5 c + (– 12 c) + (– 3d) + d – 6
= (5 + – 12)c + (– 3 + 1)d – 6
= – 7 c + – 2 d – 6

= -
𝟑

𝟒
𝒙 + (-

𝟏

𝟑
) + 

𝟕

𝟖
𝒙 + (-

𝟏

𝟐
) 

= -
𝟑

𝟒
𝒙 + 

𝟕

𝟖
𝒙 + (-

𝟏

𝟑
) + (-

𝟏

𝟐
)

= (-
𝟑

𝟒
+ 
𝟕

𝟖
) 𝒙 + (-

𝟏

𝟑
-
𝟏

𝟐
)

= 
𝟏

𝟖
𝒙 –

𝟓

𝟔

= 
𝟏

𝟒
+ 

𝟗

𝟏𝟎
y + (-

𝟑

𝟓
y) + 

𝟕

𝟖

= 
𝟗

𝟏𝟎
y + (-

𝟑

𝟓
y) + 

𝟏

𝟒
+ 
𝟕

𝟖

= (
𝟗

𝟏𝟎
+ -

𝟑

𝟓
) y + (

𝟏

𝟒
+ 
𝟕

𝟖
)

= 
𝟑

𝟏𝟎
y + 1 

𝟏

𝟖

= -
𝟏

𝟐
a + 

𝟐

𝟓
+ 
𝟓

𝟔
a + (-

𝟏

𝟏𝟎
)

= -
𝟏

𝟐
a + 

𝟓

𝟔
a + 

𝟐

𝟓
+ (-

𝟏

𝟏𝟎
)

= (-
𝟏

𝟐
+ 
𝟓

𝟔
) a + (

𝟐

𝟓
+ -

𝟏

𝟏𝟎
)

= 
𝟏

𝟑
a + 

𝟑

𝟏𝟎



= (8𝒙 + 9) + (- 6𝒙 + - 2)
= (8𝒙 + - 6𝒙) + (9 + - 2)
= (8 + - 6) 𝒙 + (9 + - 2)
= 2 𝒙 + 7

= (5𝒙 + 4) + (- 8𝒙 + - 2)
= (5𝒙 + - 8𝒙) + (4 + - 2)
= (5 + - 8) 𝒙 + (4 + - 2)
= - 3 𝒙 + 2

= (- 7𝒙 + 1) + (4𝒙 + - 5)
= (- 7 𝒙 + 4𝒙) + (1 + - 5)
= (- 7 + 4) 𝒙 + (1 + - 5)
= - 3 𝒙 – 4

= (- 3𝒙 + - 9) + (4𝒙 + 8)
= (- 3 𝒙 + 4𝒙) + (- 9 + 8)
= (- 3 + 4) 𝒙 + (- 9 + 8)
= 𝒙 – 1

= (- 5𝒙 + 4) + (- 9𝒙 + - 3)
= (- 5𝒙 + - 9𝒙) + (4 + - 3)
= (- 5 + - 9) 𝒙 + (4 + - 3)
= - 14 𝒙 + 1

= (- 2𝒙 + 10) + (- 8𝒙 + - 1)
= (- 2𝒙 + - 8𝒙) + (10 + - 1)
= (- 2 + - 8) 𝒙 + (10 + - 1)
= - 10 𝒙 + 9



= 
𝟏

𝟒
𝒙 + (– 3) + 

𝟑

𝟏𝟔
𝒙 + 5

= 
𝟏

𝟒
𝒙 + 

𝟑

𝟏𝟔
𝒙 + (– 3) + 5

= (
𝟏

𝟒
+ 

𝟑

𝟏𝟔
) 𝒙 + (– 3 + 5)

= (
𝟒

𝟏𝟔
+ 

𝟑

𝟏𝟔
) 𝒙 + (2)

= 
𝟕

𝟏𝟔
𝒙 + 2

= 
𝟏

𝟐
𝒙 + (– 3) + 

𝟏

𝟔
𝒙 + 1

= 
𝟏

𝟐
𝒙 + 

𝟏

𝟔
𝒙 + (– 3) + 1

= (
𝟏

𝟐
+ 
𝟏

𝟔
) 𝒙 + (– 3 + 1)

= (
𝟑

𝟔
+ 
𝟏

𝟔
) 𝒙 + (- 2)

= 
𝟐

𝟑
𝒙 – 2

= 4𝒙 + 
𝟑

𝟒
+ – 3𝒙 + -

𝟓

𝟏𝟐

= 4𝒙 + – 3𝒙 + 
𝟑

𝟒
+ -

𝟓

𝟏𝟐

= (4 + – 3)𝒙 + (
𝟑

𝟒
+ -

𝟓

𝟏𝟐
)

= 𝒙 + (
𝟗

𝟏𝟐
+ -

𝟓

𝟏𝟐
)

= 𝒙 + 
𝟏

𝟑



= – 9𝒙 + (–
𝟒

𝟓
) + (2𝒙 + 

𝟐

𝟑
)

= – 9𝒙 + 2𝒙 + (–
𝟒

𝟓
) + 

𝟐

𝟑

= (– 9 + 2)𝒙 + (–
𝟒

𝟓
+ 
𝟐

𝟑
)

= – 7𝒙 + (–
𝟏𝟐

𝟏𝟓
+ 
𝟏𝟎

𝟏𝟓
)

= – 7𝒙 –
𝟐

𝟏𝟓

= 
𝟏

𝟑
𝒙 + (- 3) + (-

𝟑

𝟒
𝒙 + - 5)

= 
𝟏

𝟑
𝒙 + -

𝟑

𝟒
𝒙 + (- 3) + - 5

= (
𝟏

𝟑
+ -

𝟑

𝟒
)𝒙 + (- 3 + - 5)

= (
𝟒

𝟏𝟐
+ -

𝟗

𝟏𝟐
)𝒙 + (- 3 + - 5)

= -
𝟓

𝟏𝟐
𝒙 – 8

= – 5𝒙 + (–
𝟐

𝟑
) + – 4𝒙 + (–

𝟏

𝟗
)

= – 5𝒙 + – 4𝒙 + (–
𝟐

𝟑
) + (–

𝟏

𝟗
)

= (– 5 + – 4)𝒙 + (–
𝟐

𝟑
+ –

𝟏

𝟗
)

= – 9𝒙 + (–
𝟔

𝟗
+ –

𝟏

𝟗
)

= – 9𝒙 –
𝟕

𝟗





5 𝒙 = 5 • 𝒙
35 = 5 • 7
Common Factors: 5
Greatest Common Factor: 5
5𝒙 + 35 = 5 (𝒙) + 5 (7)

= 5 (𝒙 + 7)

8 𝒙 = 2 • 2 • 2 • 𝒙
14 = 2 • 7
Common Factors: 2
Greatest Common Factor: 2
8𝒙 – 14 = 2 (4𝒙) - 2 (7)

= 2 (4𝒙 - 7)

3 𝒙 = 3 • 𝒙
11 y = 11 • y
There are no Common Factors.
3𝒙 + 11y can not be factored.



32 𝒙 = 2 • 2 • 2 • 2 • 2 • 𝒙
15 = 3 • 5
There are no Common Factors.
32𝒙 – 15 can not be factored.

72 𝒙 = 2 • 2 • 2 • 3 • 3 • 𝒙
18 𝒙 y = 2 • 3 • 3 • 𝒙 • y
Common Factors: 2 • 3 • 3 • 𝒙
Greatest Common Factor: 18 𝒙
72𝒙 – 18𝒙y = 18 𝒙 (4) - 18 𝒙 (y)

= 18 𝒙 (4 - y)

45 𝒙 y = 3 • 3 • 5 • 𝒙 • y
81 y = 3 • 3 • 3 • 3 • y
Common Factors: 3 • 3 • y
Greatest Common Factor: 9 y
45𝒙y – 81y = 9 y (5𝒙) - 9 y (9)

= 9 y (5𝒙 - 9)



25 𝒙 = 5 • 5 • 𝒙
14 y = 2 • 7 • y
There are no Common Factors.
25𝒙 + 14y can not be factored.

𝟏

𝟑
𝒙 = 

𝟏

𝟑
• 𝒙

𝟏

𝟑
= 
𝟏

𝟑

Common Factors: 
𝟏

𝟑

Greatest Common Factor:
𝟏

𝟑
𝟏

𝟑
𝒙 –

𝟏

𝟑
= 
𝟏

𝟑
(𝒙) -

𝟏

𝟑
(1)

= 
𝟏

𝟑
(𝒙 - 1)

𝟏

𝟐
𝒙 = 

𝟏

2
• 𝒙

𝟏

𝟐
= 
𝟏

2

Common Factors: 
𝟏

2

Greatest Common Factor:
𝟏

2
𝟏

2
𝒙 + 

𝟏

2
= 
𝟏

2
(𝒙) + 

𝟏

2
(1)

= 
𝟏

2
(𝒙 + 1)



= 2 (-3𝒙) + 2 (5)
= - 6𝒙 + 10

= 6 (-4𝒙) + 6 (3y)
= - 24𝒙 + 18y

= 5 (3y) - 5 (2z)
= 15y – 10z

= 4 (-2𝒙) - 4 (7)
= -8𝒙 - 28

= -7 (𝒙) - -7 (2)
= -7𝒙 + 14

= -3 (8𝒙) - 3 (-4)
= -24𝒙 + 12



6 + y = - 8 Write the equation.

- 6       = - 6 Subtract 6 from each side.

y = - 14 Simplify.

Check:

6 + y = - 8 Write the equation.

6 + - 14 ≟ - 8 Replace y with - 14.

- 8 = - 8 ✔

This sentence is true.

The solution is - 14.



c – 5.3 = - 6.4 Write the equation.

+ 5.3 = + 5.3 Add 5.3 to each side.

c = - 1.1 Simplify.

Check:

c – 5.3 = - 6.4 Write the equation.

-1.1 – 5.3 ≟ - 6.4 Replace c with -1.1

- 6.4 = - 6.4 ✔

This sentence is true.

The solution is – 1.1



𝒅

− 𝟗
= - 6 Write the equation.

𝒅

− 𝟗
(- 9) = - 6 (- 9) Multiply each side by - 9.

d = 54 Simplify.

Check:

𝒅

− 𝟗
= - 6 Write the original equation.

𝟓𝟒

− 𝟗
≟ - 6 Replace d with 54. 

- 6 = - 6 ✔

This is a true sentence.
The solution is 54.



- 6 =
𝟑

𝟓
y Write the equation.

- 6 (
𝟓

𝟑
) =

𝟑

𝟓
y (

𝟓

𝟑
) Multiply each side by 

𝟑

𝟓
.

- 10 = y Simplify.

Check:

- 6 =
𝟑

𝟓
y Write the original equation.

- 6 ≟
𝟑

𝟓
(-10) Replace y with - 10. 

- 6 = - 6 ✔

This is a true sentence.
The solution is - 10.



Let p represent the number of people.

29.50 p + 15 = 133
- 15   -15

29.50 p         = 117

p         = 
𝟏𝟏𝟕

𝟐𝟗.𝟓

p         = 3.966
p         ≈ 4

The number of people is 4.













Part 2

Free Response Questions

(4 questions, 5-10 marks each, Paper-Based)





























THE END

Good Luck 


